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TARGET To convert between
standard units of length,
mass and capacity and
between miles and
kilometres.

UNITS OF LENGTH
X109 x10g 1o,
W m__n__mm
T T o

1 mile = 1-6km

Bkm = 5 miles

Examples
3k 517m - 3517
2m9sem
Temdmm = 14mm < 14em

UNITS OF Mass.
oo
Exomples

2497009 = 27009 = 2745
kg 390 = 63905 - 639k
kg 1059 = 1059 = 010kg

UNITS OF cApaCITY
el
B

Exomples
Vikre 250 = 1250m) - 1.25 lires
s 600mi - 4600 = 46 ives

S lies 825 ml = 5825 mi = 5825 e

A

Copy and complete

© 2cmsmm <[ Jmm = Jem
@ om76em=[Jem=[m
© 15km200m = [ Jm = [ Jom
© 0ka800g-[ Jg=[Jig

@ 3misen=[ Jem=[ |m
© owm300m = m =[ km
© 5192009 =Jo=[Iis

© 0 fes 00mi =

@ 110mm = Jem[ Jm

@ 126009=[Tia[ ls=[Tio

@ s20mi=[ Jitres[ Jomi = Jiees
@ 359mm = Jem_Jom = Jem
@ 720em=[Jm[Jem=[Im
© 2650m = Jkm[_|m=[ Jkm
®s309=[ [ o=k

@ ss00mi = Jiwes[ Jmt = ies

Changetokm  Change to mies
@ smies & 2im
@ 35 mies @ somm
@uomies @ 9%
@ ermies @ 44km
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Ellie’s cycling speed is 24km an hour. Ellie takes 10
minutes to cycle to school every day.

The distance Ellie cycles to school is about
of the distance between Ellie’s house and her
cousin’s house.

a) Estimate the distance between Ellie’s
Ul and her cousin's houses.
b) Tothe nearest our, estimate
how long it would take Ellie to
cycle to her cousin's house.
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Teddy thinks his chew bar is 132 cm
long.

Do you agree? Explain why.
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Ron's dogis about  of the height of the
door.

Ron is three times the height of his dog.
Estimate the height of Ron and his dog.
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